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oJl22 2,259,542
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o83z2s¢ 136,757

— 104 0| &t 2,025, 1502 x50%*46H 23| 93,157
— 108 0| 8+ 2,025, 1503 x45%*2H *23| 3,646
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OsY 93,600
— B Xt 40,000& «65H x12& 31,200
—HMAE L Jlet 20,000& *120H = 12& 28,800
— S MAY 60,000& «30H x12& 21,600
— Aol XHYH 100,000& *10H = 12& 12,000
OxdsY 39,960
—15=2 100,000 »3¥ x12& 3,600
—25= 70,000& x4H x12& 3,360
—3s= 50,000& x55H x12& 33,000
O=0AHUAEBES 2,900,000,000& *3.335% 96,715
O=0dZ 2,900,000,000& *4 . 5% 130,500
OngHss= 2,900,000,000& *1.3% 37,700
OMMEE S 2,900,000,000& *3.6% 104,400
OLeEIAEBEE 96,000, 000& *10.25% 9,840
O&tZ 0|3t el A 303,396
A=) 1,260,000& *7H x12& *105% 111,132
— 252 400,000& »7H x12& 33,600
— &S| 1,992, 000& ~7H 13,944
—J|Z=< 3,320,000& »7H 23,240
—824 3,320,000& x7H 23,240
- IIE=Y (R X) 40,000& x6H ~12& 2,880
— SR 120,000& x7H ~ 128 10,080
— & 120,000 x7H x12& 10,080
— Mol 4,150,000 »7H 29,050
— A< 80,000 x7H x12& 6,720
— JIAI 2 & H| 40,000 x7H x12& 3,360
—nWEEXH| 40,000& x7H x12& 3,360
—ZAUBEEHS 250,000, 000& *3.335% 8,338
— Lo AEE S 8,500, 000& *x10.25% 872
—=0d3 250,000, 000& *4 . 5% 11,250
—1g8s8=s 250,000,000& *1.3% 3,250
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ML OIE 20,0003 x10H 128 2,400
— g+ 80,000& x9H 123 8,640
—S=gfe 120,000 9« 12& 12,960
— Bt e 150,000& 1H 128 1,800
—=UAHLBEZ 250,000,000& *3.335% 8,338
— oI RAEBEZ 8,500,000& x10.25% 872
— =043 250,000,000& x4 .5% 11,250
—1E82E8= 250,000,000& *1.3% 3,250
—dTHEEZ 250,000,000& *3.6% 9,000
OSRHIZZX EEHSH 55,000,000& 6 H 330,000
O3RAZ2ZXN T2 MU &It
70,0003 30 13| 2,100
OZBRA2ZZ2X H&X A
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OSRAZZX A2t
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OSRAZIZI FL2R=+E
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OSRAZZX 2L W0
35,0003 «10H x2 x143] 9,800
JI2ZH(E21) 311,555 319,197 AT,642
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201 2ot Y| 118,736 121,872 ~3,136
01 At 22l 118,736 121,872 A 3,136
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o2g+¢ 94,176
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—=dsH 60,0003 *x3H x3652 65,700
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O= &l 10,376
— A2 NS4 8,000 «17F »341«12& 4,896
— RIS 8,000& 11 204! 1,760
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Ooz= 650,000& x1&H 128 7,800
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O4= (sgIIsdHAE BALEY S7)
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OS2 (HAEHHE)
100,000 x1H «12& 1,200
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A=A 39,152,341 42,251,967 A 3,099,626
101 @124l 30,016,032 33,584,357 A 3,568,325
01 2= 30,016,032 33,584,357 A 3,568,325
o=a 22,265,407
— HSH 3,078,891
Ea 95,999,000& »1H 95,999
- 22 87,251,000& »1H 87,251
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AZAH(13E2) 3,191,300& x4 «12& 153,183
OMSIM Al 12,000,000, 000& *3.5/200 210,000
Oad=Y 2,270,476
- R 132, 1503 x220H ~ 12& 348,876
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110,000& x150H ~12& 198,000
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OJIABEN = 504,600
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o < Xt 40,0003 *490H ~12& 235,200
SAIE 20,000& *485H «12& 116,400
—=F0I5& e 850,000& x15H ~12& 153,000
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—2X 40,000 *x1H x12& 480
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-2 50,000& «60H x12& 36,000
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O &aY"2g3 1,596,237
-38F3 38,800,000,000& *4.1047% 1,592,624
—33AFZE 88,000,000& *4.1047% 3,613
OMatEeaRsZ2 64,555
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SN B2
Mz HMSAHH(EL2)
el oEedy (B-AI30ia) el iEE)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
-S23 38,800,000,000& *0. 166% 64,408
—y33AFE 88,000, 000& *0. 166% 147
o282 300,000 300
02 20AHLLE S 1,401,617 1,401,453 164
Os2& 1,398,633
A R =" 37,500,000,000& *3.5% 1,312,500
— o)A 1,315,000, 000& *6.55% 86,133
OFJAZ & 2,984
—HAEE 80,000,000& *3.5% 2,800
— oI AEH 2,800, 000& *6.55% 184
NEZHSEAR 20,639 25,677 N5,038
= 20,639
101 @121l 20,639 25,677 N5,038
= 20,639
01 2= 20,639 25,677 A5,038
OIISHHEEAMNBXNE 2,063,900& 10015 H 20,639
= 20,639
AUMAHB 1,950,000 1,950,000 0
303 ZAZ 1,950,000 1,950,000 0
02 8tA0 2 1,950,000 1,950,000 0
Ogan2 1,950,000,000& 1,950,000
NWREs(5210) 3,000,000 0 3,000,000
WEHAH XK= 3,000,000 0 3,000,000
HEHAH X E (S22 LIFTHAFI2FEZ) 3,000,000 0 3,000,000
702 0|12HE2 3,000,000 0 3,000,000
(ARIE=PSE—3=) 3,000,000 0 3,000,000
OSRAFHAEIIZ2EEZ  3,000,000,000& 3,000,000
MRES(]) 600,000 1,000,000 A 400,000
WEHHKNES(MEZ) 600,000 1,000,000 A 400,000
WEHHXS(RSLEIZEEI) 600,000 1,000,000 A 400,000
702 0|28 &E2 600,000 1,000,000 A 400,000
(A= PSE—=) 600,000 1,000,000 A 400,000
OusgdIZ = 600,000,000& 600,000
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